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Dol Zojol =X S
ol MEBOIE X (£ @8
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K glgafg BlusZ
2 100
ZEOHE X2 19,000 15,200 3,800
=2 9,500
= 4,750
2 4,750
402 2I2FXHEOIF 19,000 15,200 3,800
=2 9,500
= 4,750
2 4,750
NEEEEES 19,000 15,200 3,800
OSSO ZZO0NQ! SN Z AR (5K CH)
19,000,002 19,000
2 9,500
= 4,750
2 4,750
=NeE He X2 10,000 10,000 0
= 3,000
2 7,000
402 DI2ERHEOIF 10,000 10,000 0
= 3,000
2 7,000
01 SIAREEE 10,000 10,000 0
OEZHZ0HQ FHE LN A (2K TH)
10,000,000 10,000
= 3,000
2 7,000
ARt2l At 36,336 30,700 5,636
= 18,168
= 9,084
2 9,084
101 QI24H] 33,600 30,700 2,900
= 16,800
= 8,400
2 8,400
10 JIZHIZNS2S 33,600 30,700 2,900
OFOHQI=S X LXr2IA Q121 | (242)
2421200, 0002 +7 2 33,600
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Ha: DRl =X S
ol MEory X9 (649l &2
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K glgafg Hlw &2
= 16,800
= 8,400
2 8,400
201 Y2yl 2,736 0 2,736
= 1,368
= 684
2 684
01 A= 2telt] 2,736 0 2,736
OFMUI=X X2IAL 2CHAHI
14,0002 x24] 2,736
= 1,368
< 684
2 684
QI Z= 01 XX M Ef £ 20 33,346 14,940 18,406
= 16,673
= 8,336
2 8,337
101 Q124 33,346 14,940 18,406
= 16,673
= 8,336
2 8,337
10 JAH2ENER+ 33,346 14,940 18,406
OO ZOIRXIME 0102 (32)
33,346,000% 33,346
= 16,673
= 8,336
2 8,337
SOOI E S0 UH X X 83,919 21,600 67,319
= 26,676
2 62,243
101 Q12| 83,919 21,600 67,319
= 26,676
2 62,243
10 JAH2ENER+ 83,919 21,600 67,319
OSSR T20IHX Q1P
83,919,000% 83,919
= 26,676
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SN FOIME X D
o Zojel =X S
Sl FOHOIZRIAL XY L HOHS (5 &2

SN CR(EH) - NRAY - BES ]

z
12
=1
R
121
==
El
i
u

524,488
131,122

Homn

7,300,000 7,300
3,650
3,650

Homn

0
=
e

SXAE X2 689,816 420,587 269,229
120,497
68,590
500,729

M [

M

307 QI2told 689,816 420,587 269,229
120,497

HL

in

68,590

M

500,729

2 SIANTABE 208,087 190,587 17,500
OALFOHY ARSHE 2 (102)

64,958, 0002 64,958

33,319
6,800
24,839
(1744) 76,869, 0002! 76,869

HI

Mo

O
i
ol
O
1
£
i
0
0

38,713
5,700
32,456
(290 2) 66,260,000& 66,260

HI

Mo

O
0K
om
0z
1]
=

>
Ho
02

48,465
4,960
12,835
481,729 230,000 251,729

HI

Mo

&
e
R
]
Jm
oy

O
03
2
re
J
P
1=
Mo
02

(190 2) 481,729,000 481,729

51,130
430,599

M

ME2xI|7 X& 1,786 2,446 A 660

H

1,429

A

357

301 etEd= 1,786 2,446 A660

W

1,429




SN FOIME X D
o Zojel =X S

Sl HOOI=SAAIE XNE L HOANS (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 YerEAZ 2 357
01 A E&EE56= 1,786 2,446 A 660
OMEEZRIF X (19d) 1,786,000& 1,786
= 1,429
= 357
dSEMH 2 MS22E 7 9,348 7,348 2,000
& 4,476
o 4,872
301 e AS 9,348 7,348 2,000
== 4,476
iy 4,872
01 A E&EE56= 9,348 7,348 2,000
OZZ=ZMe MSEMA K (AL2AHMDI
S&O0H) 6,688,000 6,688
= 3,344
o 3,344
OZSSHC MSEMH NI (HMASUHE
DI 20K ) 2,000,000& 2,000
o= 1,000
= 1,000
OFseI22 X (1Y) 660, 000& 660
== 132
o 528
HAAHHOMC StAXFI| 2 1,200 880 320
== 600
iy 600
301 Let8Aa= 1,200 880 320
& 600
iy 600
01 MIBEHHHZ3 1,200 880 320
QLA EC! FAFFI| KR (2H)
1,200,000& 1,200
== 600
- 600
HNEEMH 22F 2l N 6,000 6,000 0
301 Let8EAa3a 6,000 6,000 0




SA: FOMBT D
Ha: mojel =X ZX

Sl FOHOIZRIAL XY L HOHS (S5 & 2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
IEEEEEETE 6,000 6,000 0
ORSEMO A28 2| X (20%)
6,000,002 6,000
HOIAIL HX 31,220 25,000 6,220
401 AlEHIL 20 25,000 25,000 0
01 AlZH] 25,000 25,000 0
OZojol HOIAL &X L Hes
25,000, 0002! 25,000
405 XH&HE S| 6,220 0 6,220
01 KMUSBFHSY] 6,220 0 6,220
OFojol HolgE 7e 6,220
0 EHH 10,0002 +304 300
02 &0 400,0002! * 10JH 4,000
o EX0f 480,0002 +4CH 1,920
ZONQ! ALSIEOI EOH 699,499 379,684 319,815
2 203, 174
= 127,430
2 348,895
RONQIA S 2 S X 222,820 83, 165 134,655
=2 155,974
= 22,282
2 44,564
307 eI2t0|H 222,820 83, 165 134,655
= 155,974
= 22,282
2 44,564
05 LIRI9IE3 222,820 88, 165 134,655
OFZOjO!l ASIZFSRIR(35Y)  222,820,0008 222,820
2 55,974
= 22,282
2 44,564
ZOHOLS THE X SAL 96,000 0 96,000
= 67,200
= 14,400
2 14,400




SA: FOMBT D
Ha: mojel =X ZX

CHol: ZOHOI ALSIEOl B O Rk
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0IA 96,000 0 96,000
= 67,200
= 14,400
= 14,400
05 QIZtEZ 96,000 0 96,000
OZOHOtS THERIZ AL (40Y)
96,000,000& 96,000
= 67,200
& 14,400
o 14,400
ST =0 =¢ XA 168,760 99,500 69,260
& 67,504
= 101,256
307 glzZtold 168,760 99,500 69,260
L= 67,504
= 101,256
02 SltFaEx 168,760 99,500 69,260
OZZ=0M T20/4+ N
168,760,000 168,760
& 67,504
o 101,256
SSEOQ XHMeE X2 14,359 14,359 0
& 5,744
= 8,615
307 glztold 14,359 14,359 0
& 5,744
= 8,615
02 QltHAE=X 14,359 14,359 0
OZZZojel VNAME X (1H4)
14,359,000& 14,359
& 5,744
o 8,615
ZOoHel Kt XI& 110,000 82,000 28,000
& 17,500
= 92,500
307 glz2told 110,000 82,000 28,000
& 17,500




SN FOIME X D
o Zojel =X S

2l HOHC! A3l E O =HTH (el =
_ _ MNuE o
SNBSS - MEAY - BES 0l &k 24 0l ot o ClImEE
307 glz2told i 92,500
02 plztFaEx 47,000 22,000 25,000
OZ0ots |2t gelstn 29
12,000,000& 12,000
= 6,000
i 6,000
OAZZOML! JII=MNE WS 5,000,000& 5,000
= 2,500
i 2,500
OEOIAISE XJAHMH 2F(1HA)
30,000, 000& 30,000
= 9,000
s 21,000
05 QIZtRIE 3 63,000 60,000 3,000
OEMOHEHA 2I& 29 (20) 42,000,000& 42,000
O0lS=S[ A 2H(10H)
21,000,000& 21,000
ZOHel EHAl K& 41,800 39,400 2,400
307 QI2t0IA 31,800 39,400 27,600
02 QtFAE X 31,800 39,400 A7,600
ONZZONR! SSEH HE BX
4,800,000& 4,800
OAZZHOHQl AE=SAE 2 10,000,000 10,000
Os0tel A2 s=stud 24 2,000,000& 2,000
Os0tel g3l 2l X3 (1)
5,000,000& 5,000
OFOHCIDIFXAHEH 2L (10HL)
10,000,000& 10,000
401 A& HIL=2OY| 10,000 0 10,000
01 Al&HI 10,000 0 10,000
OZOMHAH ARA AYZ =L F
10,000,000& 10,000
ZOHQl AL XA 45,760 56,260 210,500
201 ZEH2IH] 3,300 2,800 500
03 @At2EH| 3,300 2,800 500
OZML=XNSAU2 I XX
300,000 *11CH 3,300
301 YEtEa= 10,460 16,460 26,000




D ZEOIME N R

ROl =X S
L RONQl AFEIEO B

==

_ _ _ Muo
SN CR(EH) - NRAY - BES Arel e HlE2
10 AIAHIZ& = 10,460 16,460 26,000
OAIZER! =2gus & A3 Ft
24 30,000 x6H 2 360
OAZ & JHA ws L&
5,000 «20H *4 2] 400
OXFMe Re=3dz ¥ HAREHZ &
X 24 3,000& 300 900
OZHOtEs Itz ot 24
40,0003 80 3,200
OFMEa A NMus 24
5,000 *30H *4 2] 600
O&=Z 0 M=H X
50,0003 x20E 1 1,000
OWLZMHC HBHMAIS AL 24
10,0003 *15%4 600
O BSed=H &It X&
50,0003 20 1 1,000
OFMe JIsZIIthal K& 40,000% x20H 800
O=SsZM RExFH U &I K&
40,000% x40 1,600
307 QI2told 32,000 37,000 5,000
04 QIFSAIE X 32,000 37,000 25,000
OHMA=XSEU2 25,000,000& 25,000
Og XZEole & &AL K& 4,000,000& 4,000
OAIZE Rl A3 HS S A Y 3,000,000& 3,000
2SI XX 1,682,206 1,690,998 AN8,792
= 1,226,334
= 224,686
= 231,186
JbAREE Bt 2 R0 ALY 378,500 360, 886 17,614
= 302,800
= 37,850
= 37,850
307 QI2toId 378,500 360, 886 17,614
= 302,800
= 37,850
= 37,850
05 CIZtRE= 378,500 360,886 17,614




SA: FOMBT D
Ha: mojel =X ZX

9l YASIHT XEX (Er9): &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OJtAIRHE H2ER0IALY 378,500,000 378,500
= 302,800
= 37,850
o 37,850
g AS3H 52,513 62,186 A9,673
= 42,011
& 5,251
i 5,251
301 YBtEA= 52,513 62,186 A9,673
= 42,011
& 5,251
= 5,251
01 ASIE2EHE =63 52,513 62,186 A9,673
OXt&zeiz(28Y) 52,513,000 52,513
= 42,011
= 5,251
i 5,251
g XA 819,285 834,292 A 15,007
= 650,228
& 81,278
= 87,779
101 Q24| 206,785 216,832 210,047
= 165,428
= 20,678
i 20,679
10 JIZtHZ2Z2NSES 206,785 216,832 A 10,047
OXE2Z A (KIXEA )1 2181 (35H)
206,785,000& 206,785
= 165,428
& 20,678
= 20,679
201 ZEH2EH] 12,500 7,460 5,040
= 4,800
= 600
= 7,100
01 AtS2eld] 6,500 6,000 500




SN FOIME X D
o Dol =X S

9l YASIHT XEX (Er9): &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OX&=20t 22 MA 3,000& 300 *23] 1,800
OXEAIY A HALEDI X2
500, 000& »2CH 1,000
OAtRE2SHI 500, 000& 500
OXEYL =& Haot R
50,000& 12042 1,200
OXsAEE | 2,000,000& 2,000
00 B2 6,000 1,460 4,540
oxezz B8z 6,000, 000& 6,000
= 4,800
& 600
= 600
402 QIZEXE0lH 600,000 610,000 210,000
= 480,000
& 60,000
= 60,000
02 QIZtCHEH AL HI 600,000 610,000 A 10,000
OX&Z2Z2 AL (50Y) 600,000,000 600,000
= 480,000
= 60,000
o 60,000
Has HaAHE EEXA 109,200 109,200 0
= 54,600
i 54,600
402 BIZ2HX =0l 109,200 109,200 0
& 54,600
= 54,600
02 QIZtCHE AL HI 109,200 109,200 0
OMASE SEXAAL(152)
109,200, 000& 109,200
= 54,600
o 54,600
KExade X 177,708 179,434 AN1,726
= 115,295
& 31,207
= 31,206




S A

Z0IME T 2 Dt

B ool =X B
9l YASIHT XEX (Er9): &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0IA 177,708 179,434 AN1,726
= 115,295
= 31,207
2 31,206
02 BltFAE=X 177,708 179,434 AN1,726
OXSXEME SAXL =2 (5Y) 13,000
o NGXEHYH 2 =%
Z200,000& *5H 123 12,000
= 6,000
i 6,000
oMATBME FE4Y
ZE100,000& x5H »23| 1,000
= 500
i 500
OXNSAX &M 2HHI(11A)
164,708, 000& 164,708
= 115,295
= 24,707
i 24,706
=gt 82280 145,000 145,000 0
= 116,000
& 14,500
= 14,500
402 QIEXE01M 145,000 145,000 0
= 116,000
& 14,500
2 14,500
02 QIZ2HCHE AL B 145,000 145,000 0
O=a X =HE=304(1000t7)
145,000, 0002} 145,000
= 116,000
= 14,500
= 14,500
S| MESH 9,290,546 8,482,080 808,466
= 7,341,898
& 936,442
= 1,012,206
)| =ME BF 9,290,546 8,482,080 808,466




SN FOMET R
Hu: RO EMBEH
et 20| XME BE ol & @
SN (B) - MBEAY - B2 oy e HRZ2
Q)| xzMeE B& = 7,341,898
= 936,442
iy 1,012,206
=S A MAZ20 6,618,564 6,337,500 281,064
= 5,294,852
== 661,856
iy 661,856
301 LBt A= 6,618,564 6,337,500 281,064
= 5,294,852
== 661,856
iy 661,856
01 MIBEHH=HI3 6,618,564 6,337,500 281,064
Oz A MAZN 6,618,564,000& 6,618,564
= 5,294,852
& 661,856
= 661,856
=2 FHZ2A 1,850,638 1,590,000 260,638
= 1,480,510
= 185,064
iy 185,064
301 Let8Ma3a 1,850,638 1,590,000 260,638
= 1,480,510
== 185,064
iy 185,064
01 A E&EE56= 1,850,638 1,590,000 260,638
Oz X =H20 1,850,638,000& 1,850,638
= 1,480,510
o= 185,064
= 185,064
=P\ A= =10 196, 181 271,250 AT5,069
= 156,945
& 19,618
iy 19,618
301 et A= 196, 181 271,250 AT75,069
= 156,945




S FOIME TR
M 20| ZMESE
ol BOID|EMY 2F (£l &2
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K glgafg BlusZ
301 YprEAZ = 19,618
= 19,618
01 ASIEHEAG2 196, 181 271,250 75,069
O%x2Xt RS20 196, 181,000% 196, 181
= 156,945
< 19,618
2 19,618
~2X e, ZHS 54,182 48,750 5,432
= 43,346
= 5,418
= 5,418
301 YprEAZ 54,182 48,750 5,432
= 43,346
= 5,418
= 5,418
01 AIBIEHEAG3 54,182 48,750 5,432
O%SX sHat, FHSo 54,182,0002! 54,182
=2 43,346
= 5,418
2 5,418
SR 112,893 123,750 ~10,857
= 90,315
= 11,289
= 11,289
301 YprEAS 112,893 123,750 A 10,857
= 90,315
= 11,289
= 11,289
NIEEEEEEE 112,893 123,750 £ 10,857
O2AZ=X 112,893,000% 112,893
= 9,315
= 11,289
2 11,289
RALNS =l N 10,425 10,000 425
= 8,339
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S FOIMET R}
o HHSAAH (FOIMEX D)
L] (EHo &8
- _ — HdE T
SN B S2(BH) - HRAY - BES Off & 04 0l ot o HD=2
1| 79,223 92,080 A 12,857
201 Ypre | 64,223 63,880 343
01 ARzl 61,523 57,610 3,913
ORN2Y Ypt2| 33,423,0002 33,423
osYy+g 21,100
CEEETIEE = R
70,0002 22 %43 560
O KIS LS| B Of Xl 2 & & At e
3,890,0002 3,890
o Y= | 16,650
— =y 50,0002 *19 1142 5,700
— &5y 30,0002 * 124 x3652 10,950
SEEL] 7,000,000 7,000
02 BB 2,700 6,270 A3,570
OBB22(RE) 2,700,000% 2,700
202 OfH| 15,000 28,200 A 13,200
01 =UHoit| 15,000 28,200 13,200
ORN2Y(BS) 15,000,000 15,000
WREs(FaMaxa) 690,398 727,293 136,895
LIS HeH X = 690,398 727,293 36,895
oZ2SAZH TH 2YS RS WES 390,398 427,293 36,895
701 JIEEHEES 390,398 427,293 136,895
NEBCEEEEE] 390,398 427,293 136,895
OYBESXBH PHRES s 852
390,398,000 390,398
IIEMBEEIZ £ 100,000 100,000 0
702 JI2WE2 100,000 100,000 0
TEEEES] 100,000 100,000 0
OJIZMB2RIIZ 59 100,000,0002 100,000
NASZUMEHSEIS 5 50,000 50,000 0
702 JI2WE2 50,000 50,000 0
IEEEES] 50,000 50,000 0
OMASZRIY &2 &0
50,000,000 50,000
OIS B 150,000 150,000 0
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